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Qg sifley
GENERAL STUDIES
smev ojemay: ewpeirm wwewfl Cryd Qs wIHiGuesr: 250
Duration :3 Hours Total Marks: 250
ifley - o
SECTION - A
&My i) easanm deamaheb 150 CerhsEprsE Wsmoe e weflsseab.
Note Answer not exceeding 150 words each.
ii) @ananm demalheb LSS WHIGLCTSST.
Each question carries ten marks.
iii) Qan@EssLILLGeTer LleTeeiTm) eleméaseafled amaGIWENID LGS 6f6uTs:8HEnee LG efenLieféseab.
Answer any ten questions out of thirteen questions.
(10x 10=100)
Q. No. | A en aEuigster wrewraisst wpmib wrerelsefldr alflgn S:3 Ew. em Cazials
1 16% wrewraujsepd 8% wrewrelsepn Czrédl Clupeaisdeme crafler, Cs7efl CUDM LTewTOU

wrewrellasaflr Fsaigsmss srevms.

The ratio of boys and girls in a class is 5:3. If 16% of boys and 8% of girls failed in an

examination, then find the percentage of passed students. (5 Marks)
B leueiry ceiTennm b SOLESTTT 4275 @DEE ADugTed SJUBHE 5% BLLID

gpu@fng. 5% Qeorud Qup Ceueir(HCwefled, eur WHaergenw ererer aflemeos s,

allhs Ceuesor(Hid?

By selling a bicycle for ¥4275, a shopkeeper loses 5%. For how much should he sell it to

have a profit of 5%? (5 Marks)

allem. / ANSWER
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A @m Curmener I810 B&E albmzred oLz QPeoruwnd Gz Curmenst IS30 Bés
allhmared eHULL. BLL (b &b erafled, bzl QuTmefler &5 ellemevenus srevrs.
If the profit earned on selling an article for ¥810 is the same as loss on selling it for 3530,
Q. No. then find the cost price of the article. (5 Marks)
2 B em Curmefldr 1Bz aphisiubn Bwm AT serepunseT WenGu 25% wHmw 20%
aafle,@sn©® Hammar Cr swrard sarEpURE FHaissHamens sTeurs.
Find the single discount in percentage which is equivalent to two successive discounts of
25% and 20% given on an article. (5 Marks)

eflen. /| ANSWER
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Q. No.

Wem Jeararsdlar Gsrgdew S50% Hfsflggn ugdow 20% GODSSTO, SibS
Wereoronerg s o8 wrndng cefled, e Llararsmgs sners.

If the numerator of a fraction is increased by 50% and the denominator is decreased by
20%, then it becomes % . Find the original fraction. (5 Marks)
BCaml, emn wyssailaflow 12% QeorusdnEg aoory. CoEw, Smg 1200 &s
smBgeors pdlmbsre, Beorund 20% 5 DEHBSHSGL. wLossaflallllar &5

allemedenws STevrs:.
Gopi sold a laptop at 12% gain. If it had been sold for ¥1200 more, the gain would have
been 20% . Find the cost price of the laptop. (5 Marks)

allew. / ANSWER

@ Manidhanaeyam Free IAS Academy




Manidhanaeyam Free IAS Academy

@ Manidhanaeyam Free IAS Academy




Manidhanaeyam Free IAS Academy

SiHu grsmssHoel udGam aflumaml afisefld @mbgiamd o@m epuTUlhHaTer
aporeTd CarHssuUL(heTerg. ASHES e elerssSUULLd uamrs.

oufl :gmwm Bineuesr eufl | eumwrer eufl | &his eulfl 5::;:\) G:Tﬂm HDEHE
Q. No. (:‘E:;g:) 19 16 9 14 10 32
4

Income from various sources for the Government of India from a rupee is given
below. Draw a pie chart.

Source Corporation | Income Customs Exc1.se Service Others
Tax Tax Duties Tax
Income (in paise) 19 16 9 14 10 32

ellen. / ANSWER

S
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Aemar garg aumorarsSled 75%m OCswe Cleldlpmy. euflar sbuetd 20% 2 w®mEngl,
Sl JeumenLw tFeemer 10% Hsfsfpry. ceafler yeuflr Gl sreucuere) ezeizD
S faE0n?

A man spends 75% of his income. His income is increased by 20% and he increased his
expenditure by 10%. His savings are increased by (5 Marks)

B pzeomd e (Preled wm Barsder wiser Csrmae S% Hafadlng, SIOSS WewT(H
5% @eondng erafled QFT_sa5Hed WwasH6T CFTEMs eTeirer?

During one year, the population of a town increased by 5% during the next year, the
population decreased by 5%. If the total population is 9975 at the end of the second year,

then what was the population size in the beginning of the first year? (5 Marks)

allew / ANSWER
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AP eremsafler 15.8.0 gyerg 15.0u.eu-alleir 6 WLLAESTGD. 15.0lu.e1 12 WLOMID 6 eTevwr
36 erafled, WHCOIT cTRTENERTS SHTevors.
The LCM of two numbers is 6 times their HCFE. If the HCF is 12 and one of the numbers is

36, then find the other number. (5 Marks)

Q. No B eperm Curs@aursg sbdlysefld 2 erer CBflesd ellersi@ser geublaunarnid WPenGu 40
) alpmgsefld, 60 alpmgsefld wHmb 72 oprgsefled gefliflammer.  eualars@aser

Smarsgid sremer 8 wenfla@s snfliysefld parmrs geflibgar aafld, Lo Sene

erlGurg) gerprs qeflmb? (5 Marks)

The traffic lights at three different road junctions change after every 40 seconds, 60 sec-

onds and 72 seconds respectively. If they changed simultaneously together at 8 a.m at the

junctions, at what time will they simultaneously change together again?

allen / ANSWER
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Q. No.

Auwveorellfl, srisHar wHmb scvrewrdl gfu epambd Cr Hymovsmzs Crins GCsmPlaer.

Bajser CeauaiCoaum B risefld GCeaened OCeiuflarpery. weofellfl S BILSEEHE QM
peopuwb, srisSesr wHnb semeurd wepGu 6 wHmID 10 BIL&EHHES @@ (PEODULD,
SuisD dOsEpsE abg OFoaT. Seuiser epaimbd, JSCLTUF WLISD WSO BreT
earpnas shHssniser aafled, Bawr@n Seujser qUCUTE @ammTes Fhillumjser?
Malarvizhi, Karthiga and Anjali are friends and natives of the same village. They work at
different places. Malarvizhi comes to her home once in 5 days. Similarly, Karthiga and
Anjali come to their homes once in 6 days and 10 days respectively. Assuming that they
met each other on the 1st of October, when will all the three meet again? (5 Marks)

B)eflevseir, wger wHMID GeTGraren HHACUIT m e L augelleorer eOUTmUlT 6

sheon peonGuw 10, 15 wHmd 20 Al _risefled &Hif wuysfarmery. Seujser CFr_&s
yeraflulled sremed 7 wenllé@® qetprss &Hns CFT_ridlerred, seujser WewrHn erlGUTg
Qgrsan yetefluled eerpras shllumyser?

Wilson, Mathan and Guna can complete one round of a circular track in 10, 15 and 20
minutes respectively. If they start together at 7 a.m from the starting point, at what time
will they meet together again at the starting point? (5 Marks)

allew. / ANSWER
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Q. No.

Wem a@uiled ullgw S0 wreweajsefld, 10 wreawejssr Ggreelwybmer) Sjeujserflsr
grrefl wHICUer 2.5. Qwrss wrewrafseflar wHICLaTHaflar sz 281 srasfled Ceaunm
Qupm wrewreuFsefler srrefl wWHICUET Srevrs. (5 Marks)

In a class of 50 students, 10 have failed and their average of marks is 2.5. The total marks
secured by the entire class were 281. Find the average marks of those who have passed.

B)112 ,2/2,3/2,472 ,5/2 ,672 ,772 g flwaupiler syrsflenw srewrs
The mean of 112 ,2/A2,3/A2,4A2 572 ;612,772 is (5 Marks)

allen. / ANSWER
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Q. No. |z n Queveramaafisr S L aflevssd srevms.

9 Find the standard deviation of the first ‘n’ natural numbers.

allen. / ANSWER
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Q. No.
10

396, 504, 636 s Fweupmer 15.Clum.cu SrevTs.
Find the HCF of 396, 504, 636.

elleo / ANSWER
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Q. No.

11

(A)2A = 3B = 4C etafleo A : B : C @eir wlevus srevwrs
If2A=3B=4C,then A:B:Cis (5 Marks)

Bewm ysCaransdear usstseflar aflflgn 127574 wHmId i sHmeTay 104 Q.15 erefled
Siper Cuflu ussSHeT SeTENEl SHTETITS
The sides of a triangle are in the ratio %2:%5:% and its perimeter is 104 cm. The length of the
longest side is (5 Marks)

allen. / ANSWER

@ Manidhanaeyam Free IAS Academy




Manidhanaeyam Free IAS Academy

Manidhanaeyam Free IAS Academy




Manidhanaeyam Free IAS Academy

Q. No.

12

o7 ehSrger sHCurengw wHOy I1,62,000. siger Cziorerd syeuranE 10% eresfle,

D Qraw® SyereHE DG Ser wHL ereme?

i) @rew® SETRHEG Wty Sy Wiy ererer?

The value of a machine depreciates at the rate of 10% per annum. If its present value is Rs.
1,62,000.

i) What will be its worth after 2 years?

ii) What was the value of the machine 2 years ago?

allew— / ANSWER
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Q. No.
13

25 wiaysefler sgrefl 120 aer semsdl L (eterg. ey sflurfs@n Gurg wHiy 144
B33 udeors 169 arer CarsasiulL g ey s Wigss u_L g aeafled , sflurer syreflenw
ST

The average of 25 observations is 120. By mistake one of the observations 144 is taken as 169.

Find the correct average.

ellen / ANSWER
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difley - o
SECTION - B
&My i) easanm damaiheb 250 CerhsErsE WMo e wefsseab.
Note Answer not exceeding 250 words each.
ii) eacanm demsiheb umearbg wIHOCLeTSET.
Each question carries fifteen marks.
iii) esn@HsLILLGsTer LFlereeitn efleumasefeo repaGLIEnID LGS clenésene LG elenLweflsaab.
Answer any ten questions out of thirteen questions.

(10 x 15 =150)
©wreflar brg GOWLUE OQswea £Cs QarOsSsUULL(PaTargl. NSNS QUTHBSSWLTET UL
allerT&sLILLLD QUemTs.

aleurfuser | 2ewra| | se0all | aurLens | CUrsGTSs | QT OFva s6T
Qeeveyser (%) | S0% | 20% 15% 5% 10%
Gueiid,
1. @wrer aurLemssars ‘6000 o QFmaE CQFLgTe ST HoalsGs Qalub CFmmeas sreamrs.
2. @wrefler Cr$s LTS QIHLTERTD eTelaueTa?
Q.No. |3 goeflenw el 2 e &3 eTeualeme] SswreEE Cseas CeWISDTT?
14

Monthly expenditure of Kumaran’s family is given below. Draw a suitable Pie chart.

Particulars Food | Education | Rent | Transport | Miscellaneous
Expenses (in %) | 50% 20% 15% 5% 10%
Also,

1. Find the amount spent for education if Kumaran spends ‘6000 for Rent.
2. What is the total salary of Kumaran?
3. How much did he spend more for food than education?

allewn. / ANSWER
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Q. No.

15

(A)X3500 yergr A,B wpmo C &% A : B =5 : 4 wpmw B : C = 3 : 2 eterpeunm)
uflibgefllss uQFng aafld B @&@ Csr Ceaumqw LkiSloners srers
Rs. 3500 is distributed in A, B and C such that A: B=5:4and B: C = 3: 2, then calculate
part given to B (5 Marks)
B)XS510 gerg A, B wpmd C @& uflitgaflss u@ngl. A eaeruai B Cu@mn Cgrensudled
% ukiens QumIHpTF wOmWD B eetuas; C CUEBmL GCFrensulled 4 ukims CUmEDNT,sreafled
SaisEens@ Csr Cauammqu Cgranaser WennGw
If Rs. 510 be divided among A, B, C in such a way that A gets % of whatB gets and B gets %
of what C gets, then their shares are respectively. (10 Marks)

allen / ANSWER
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WO erevmraer 3:5 etetrp elflgS5Hed 2 erenar. euQeur(p erarafleSlBHGID 9 SPSHILILL T

ydu erisefler ellflgn srewrs

Two numbers are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are in the
Q. No. ratio 12 :23. The smaller number is (5 Marks)

16 B emLulled 25 ewusr ,10 emusm wHmd 10 eusr gyFlueneu 1:2:3 ererm aNFlFFHe0

2 erererr. CuId IBg emuulled I30 2 etenar erefld S emusssafler aramenflsmaamu sreTs
In a bag, there are coins of 25p, 10 p and 5p in the ratio of 1: 2 : 3. If there are Rs. 30 in all,
how many 5 p coins are there? (10 Marks)

allew / ANSWER
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Q. No.

17

A)30 wewrauiset @m eu@Ullar awgseflar srrefl 30 gyew@hset Cob aigGuurdflufler
awdmeanyn Ceissme 1 yambhset saOFng aafld yAfluflar awengs srewrs
The average age of 30 students of a class is 30 years when the age of class teacher is also
included, the average age of the whole class increases by 1 year. Find the age of class
teacher? (7 Marks)

B em HfE6s efrflar 10 oy rtisefldr syrefl 38.9 UL kisdr. geuflsr g 6 Curiigsefler
spnafl 42 UL Riser aaflled saLdl mreang oL tiseflar syrsfleow srewrs
The average score of a cricketer for ten matches is 38.9 runs. If the average for the first six
matches is 42, then find the average for the last four matches (8 Marks)

allew / ANSWER
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Q. No.
18

Qrell eretrueur senllgsdle 75 R&E@E 66 wIHAUGUTTHEHD yPleflwellsr 80 Q&E 72
wlucluersepn umdlarory aafled , abg UTLSHe Hs wHOICUET QuDHMIETETTT2
Ravi got 66 marks out of 75 in Mathematics and 72 out of 80 in science.In which subject
did he score more? (5 Marks)

Bem sar Gsaassdar Bo, se wLHHW 2wrd wWenGu 10%, 20%, wHmw 20%
siflsflest uOEDG erefled, SiFer Har eTey eTeuaueTa| FHaigD IiFlaf&E0?

If length, breadth and height of a cuboid increased by 10%, 20% and 20% respectively.
Find the percentage change in volume. (10 Marks)

allen / ANSWER
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Q. No. |AA eeruaur B gt el 10% giflsn aafled B ereruauy A eweu el arSgemer &geisb
19 Goney?
If A is 10% more than B, then B is what percentage less than A? (5 Marks)
B®Qm Caurmerjseflen_Cu BewL. QDM Czizelled Qwrss ears@Gseflar amenilsams 8400
SFd 7S%ams@GHeT Oeengmal. OCFn5358 ars@Gaefled Qeaupdl Cumnm Ceuumery
52% euns@semer GupmieTenmy. cresfled wHH Ceulumery QUDD CFNNSZHE eursEGseaflsr
eTeoTenflGena
In an election between two candidates 75% votes were valid. The winning candidate got
52% of the valid votes. The total number of votes were 8400. How many valid votes did the

other person get? (10 Marks)
eflen_ / ANSWER
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Q. No. |@m erevmseflér oz 216 Seupdler 15. Qur. 1 27 aafled B eTevTTsHmTS SHTETIs
20 The sum of two numbers is 216 and their H.C.E. is 27. The numbers are
allew_ / ANSWER
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Q.No. |78, 315 85 Q&. 15, 12 1§ 95 Q&. 15 HHu Beriusemer erés sanguw WslCuflu sbulier
21 Berid eretrevr?

The greatest possible length which can be used to measure exactly the lengths 7m, 3 m 85cm,

12 m 95 cm is.

allen. / ANSWER
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Q. No. |50,47,53,48,51,52,49 gpélu wiiyssE S alevssd srers
22 The standard deviation of 50, 47, 53, 48, 51, 52, 49 is
eflen. / ANSWER
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Q. No.

23

A120 QumrmLaemet ellp@w Curg 30 Qur@mLseflar elpuener ellemevd@ &wmer OTLID
flenL&8lpg eraflled eoru FZeizn srewwrs
On selling 120 things, it results a profit equal to the selling price of 30 things what in the
percent profit? (7 Marks)
B@)15 Qur@mLser I12 @&@ aurkisl u@GEDG wOHnIW 20 CQurpLser I14 @& alhsuLBHEDS
aTafled oML VeV BLL FFeigld SHTevrras
If 15 articles are purchased for Rs. 12 and 20 articles are sold for 14 then find the percent
profit / loss? (8 Marks)

allen / ANSWER
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Q. No. | Aegm aflmsuiler gemwssuu L 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41 ererp
24 grasaflar Qen_fleweo sjerey 24 arafled x Qeir wHlwLE SHTevers.
The median of observation 11, 12, 14, 18, x+2, x+4, 30, 32, 35, 41 arranged in ascending
order is 24. Find the values of x. (5 Marks)
Bem ureaselear srrefl wHHWL WsH WenGw 66 wOHMD 60 yGw. P Klened IjeTey
STCHTS (8 Marks)
In a distribution, the mean and mode are 66 and 60 respectively. Calculate the median.
(©10 Qgmfleonsrisefler 1rg aupwraTRISST (WennGui:
5000, 7000, 5000, 7000, 8000, 7000, 7000, 8000, 7000, 5000
aefled errefl, QenLflener jeray,waH sSTers.
The monthly salary of 10 employees in a factory are given below :
35000, 7000, 5000, X7000, X8000, 7000, 7000, 8000, 37000, X5000
Find the mean, median and mode. (5 Marks)
eflen_ / ANSWER
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Q. No.

25

(A)X180 n& @S almeownsayn, 108 g allhuamer allmewnsab Qe ewm CLTWHEHHS
seoL&aTTT Qreahs OCsTi SFemepugsmer eflaHpry. Qrewrreug Herebuy 8%
aefled, s FemepLWiler ssaig5mss HTevs. (7 Marks)

A shopkeeper gives two successive discounts on an article whose marked price is ¥180 and
selling price is T108. Find the first discount percentage if the second discount is 25%

B waiCzdl Qm Czemedaener geor 32200 B&@ ellborer. perdlar 5 10% Georugamgub
wpoprerhler 155 12% BLLSoFWD L bErer erafle, Ceamevmenar allbmHled jeuaflesr
Crgs BeorLd EVVG BLLID #FeisSmss Srenrs.

Vaidegi sold two sarees for 72200 each. On one she gains 10% and on the other she loses
12%. Find her total gain or loss percentage in the sale of the sarees. (8 Marks)

ellemn / ANSWER
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Q. No.

26

seOgnerT, @ Ourg EsTgUled Saramn OCuTaTsmer eaurkiflemy. Sl OCFNISSHw
Qurss Préss Csramsmus seursSHs.

@ 5% ers@ womb Cezees eaufluysr I800 wHSleores wWIHHSISH6T

G 12% &1&@ womw Crenes auflujer I650 wHulleoner SiRE@ FTSATLGLITETSHET

di) 0% sr&E wHmb Csmer aufluyer I900 wHleorer Freflwriser

Gv) 18% &n&@ wHnw Gsemeu eufluyer I1750 wHuleorer SIHLILS SHevurewTmiy.

™) 28% &15@ wHmD Greneu auflyyer 328500 wiubleoner srpmi ugefl (AC)

Sultana bought the following things from a general store. Calculate the total bill amount paid by her.
(i) Medicines costing T800 with GST at 5%

(ii) Cosmetics costing ¥650 with GST at 12%

(iii) Cereals costing ¥900 with GST at 0%

(iv) Sunglass costing 1750 with GST at18%

(v) Air Conditioner costing ¥28500 with GST at 28%

ellem_ / ANSWER
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